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77970 29 said in the name of 29; a barrel filled with water

OVERVIEW

27 MR A7 20 ruled that if a barrel of water fell into the 91737 1%, whoever
immerses himself there, does not accomplish a proper immersion; he is still ¥»nv.
There is a dispute between *"w and M»dOIN as to this ruling of 27 X 7717 27.
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This is how the text reads according to »''w (that it was a > X% n°am), and 20
27 72X 7707 ruled that the 792w is not effective because the water in the barrel is
drawn water which is 5100 for a mpn.

mooIn disagrees with >"wAo:
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And it does not seem to be the correct explanation, for since pw:? makes the
unfit water as if it were attached to the fit 7p» water to be amwn the DXnvI o»

from their 8=, the same should also apply regarding 72w’ that the mpwn
should accomplish that the 2°21%w 2°» should be like the 012177 and be 792205 w>.

mooIn presents an additional difficulty on >"wA5:
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And furthermore the 0°on state in a X712 in 7%%2 NJ0»; ‘we may immerse a

! See v "7 >"wn which states, T2 22 121 71 X2 X9wn. It seems from >"wA that the problem here is that since he
was PIRW 012 721, he becomes 7321702 7100 (even if he was an 71770 07R), for one of the 727 "> (which makes one
AN 109) is @°2IXW 272 1217 WK K27, See [*1°%n and] (P ") PX> N and YRIAY 1 MYW.
> We are concerned that perhaps he was 21 in the 223w o°» from the barrel and not in the water of the sea.
3 p2ww oon (drawn water) is water which was placed in a receptacle. Once it is 22w 2% it is unfit to be used as a
MpPn (unless it became mixed into a 77w Mp»n which already contained 2> w2 o' R0 7).
* apwn (literally kissing) is the process where one type of water touches (or ‘kisses’) another type of water. If there
are 0°8nv 2°» (in a vessel) and this vessel is immersed in a 7pP», as soon as the water of the mp»n touches the water
inside the vessel, the waters in the vessel become 71770 through this process of 7pwi. Waters of a mpn cannot become
Xnv (as long as they are part of a 7p») as the 70 writes (12 ,R° [>1AW] RIP) AL 727 2 MPR N Pn N,
® See 2,77 oros.
® Just as the waters of the mpn are 77u» the DXnL o7 through 7pwa, the same rule should apply regarding 121Rw that
as soon as the 121%w o°» touch the mpn 1, all the water (including the original 1218w 2°n) should become Mpn .
” The case there is where there is water in a vessel and both the water and the vessel are X»v. One may be 2°» 77un
for drinking on 2w 1°; however one may not be 0°23 27vn on 2w ar. In this case since he may be 2w the o
(through npwn) by immersing the entire vessel into the mpn; we overlook the fact that he is being 7mvn the *25 as
well (since it is 23X 777 — by the way of being 77vn the water).
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vessel to purify it on account of its water’. This concludes the Xn»12. Now n1ooin

continues with his question -
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But how can the %°2u be effective for the inside of the vessel (according to

*"w7), since the water inside the vessel is 12382 and they did not mix with the

mpPn water -
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They we connected merely with 1pw:; rather we must say that the water in the
vessel is certainly considered 327277 also regarding 772°3% (and not only for 7770) —

moon offers his version of 27 MR AT 27 IMK:
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Therefore it appears to n19010 that text in the ruling of 29 928 77737 29 reads; a

barrel full of wine (not water) fell into the %1737 ° -
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And therefore the 72w is ineffective, for the waters of the sea are ingathered
and remain in one place (not like a river which is constantly flowing and moving),

so perhaps the wine is heaped and standing in its initial place; it was not dispersed

in the sea waters -
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And it is not recognizable that it is wine (as M50 will shortly explain), and he

will immerse himself in the wine instead of the water -
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However if the wine fell into any river, we do not say that 1%°2v X% 7n%y X7, for
the wine certainly mixes with the water, and there is no recognizable wine, and
the 7972w will be effective.

® A vessel must be completely immersed in water fit for a 7P both on the outside and on the inside of the vessel.
However, here the inside of the vessel is in contact with 2°21%w 2% (according to *"w").

° >"w1 maintains here that since there is a possibility that the 021w o of the n"an did not disperse and they are all
together in one place, therefore they are considered 2°2Ww 2°n even though they are attached to the 7171 .
Certainly then in the case of the *722w o°» which are certainly not dispersed (he was Jnv» them only through mpws,
but the water remained together in the *3) and are 0°2'Rw o', therefore the inside of the *73 was never immersed in a
7IW> Mpy, but rather only in 2°23%w 0. How can that *23 become M70?!

1% Others amend this to read 70 (instead of Y.

" The 7pwi not only accomplishes that the water in the vessel is 7Y, but it also accomplishes that the water ceases
to be 123w o°» and they become o°» which are mpn? Pw>.

2 However by a 0" axon nam, the 72°2u is certainly effective for there was mpwi with 172 o which makes the
0°2W 2’1 into proper PR .

" The n"21 N amends this to read, 1371 11X 1MPn2 (instead of 1271 MO°KY MPHI).

" Wine is never fit for a mpn (even if there is a 7pw: to a 77w Mpn). See ‘Thinking it over’.
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mooIn concludes:
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And 27 X AT 20 is discussing white wine, which does not change the
appearance of the water,' for if we would be discussing red wine, there is no
issue for we can see whether the appearance of the water was changed to red,
in which case one cannot be 210 in this red area, or whether the color of the water

was not changed, in which case one may be 721, since the wine is not observable.

SUMMARY

>"w1 maintains that if 2w o7 fell into the 71737 @ it is forbidden to be 921 for
the 1P2IXW 0°2 continue to be 72w (if they are together) even if there is Apw to n
mpn. However, maoin disagrees, for pwn makes 12XW 2°7 into 2 w2 a°n. The
correct text is that (white) wine (which is not apparent in water) fell into the a°
27

THINKING IT OVER

According to mdon that it was wine that fell into the 737 2> why does 717> 20
mention 121 P07 TWOWY 1w, since there is no 7109 of MY TwOW regarding wine
(the 2100 of 121 1 is only regarding water)?!'®

'3 Therefore one cannot be 721 anywhere because he may be immersing himself in the white wine which does not
look any different from water.
' See w"wn.
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